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5.1 #igi~< o ORFERA
1. d(InGDP - InKg) ; AR

obs 1551
R2C 0.26
HEETEARG 11981-2013
2016 FEHFRR
VG i
Constant 0.003 1.531
d(InKp - InKg)
406 10.878 [**x*
—FME 0 )T B, 0
d(InL - InKg)
0.546 13.505 [#**
—FRBEBIET B,
Okidum=d(InKp — InKg) -0.089 -0.357
Okidum = d(InL = InKg) 0.114 0.777
DLS -0.005 —1.809 |*

(&%) ek 1RKETHE, » SWKETHE. *: 10WKETHE., LTRL,

2. Cpn/Yzfk; HELLEE

obs 1551
R2C 0.97
H#EETHARS  [1981-2013
2016 FEHTEHE
RE &
da1980s 5.049 17.859 [k E[#;:: 3
4573 18.958 %ok EHRE
4.498 18.769 [k EFR
4.702 18.844 % =2
4.406 18.677 % MEE
4.373 18.471 %k Wiz R
4565 18.582 % BEE
4.413 18.459 [%** HE
4.271 18.295 [#** HAE
4.242 18.396 |#** HEE
4.920 18.789 [%** BEE
4.827 18.740 [%** FEB
5.087 18.502 [%x* e
5017 18.802 [%x* EEINNEY
4.655 18.662 [%** rEE
4.221 17.460 [%x* ZLE
4.345 17.966 %k IS
4.095 17.424 sk EHE
3.857 17.869 [#kok I
4.265 17.775 [wkx RHER
4.401 18.247 |%x I 18
4.660 18.399 |k FamE R
4.957 18.571 [k BHE
4.289 17.968 [*xx =)
4.106 17.597 |#%k HEE
4.421 17.845 sk AT
5.003 18.240 %ok KB AT
4.655 17.974 |sk EER
4.193 17.841 sk ZRE
3.969 17.302 [xkk IR
4.006 17.506 %k SmE
3.995 17.323 |Hok SiRE
4.443 17.875 %k FE LR
4.629 18.149 [*k LBR
4.356 17.828 [%** =]
4214 17.781 [%%% meE
4.294 17.692 [%%* )8
4.434 17.889 [k BIER
4.189 17.566 |%** 518
4.866 18.566 |%** EEE
4.188 18.359 [%** EBE
4.483 18.685 % RIGE
4.463 18511 [%** AR
4.387 18.611 [k ADE
4.359 18.706 % ST
4.475 18.627 [%** EREE
4.134 15.502 |#k bk 1
Oldrate*da1980s 3.890 3.809 [¥kx dtisiE
3.997 8.388 |dokx it
7.294 11.235 [k ESEY
5.360 7.632 [xkx JepE
5.935 8.597 [xkx ok
6.905 9.637 [*kx plin-3
4.908 8.335 |Hokx FE
4.382 6.730 [k mE
4.207 7.611 [sokk JL
7.997 4.527 [k i
d(Oldrate)*dai980s -11.368 -3.071 [sokk
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2016FEEHTFRHE
F¥ i
da1990s 5.466 19.150 [k JeifmE
5.016 19.338 [*x* EH5E
4991 19.200 [*x* EFE
5.192 19.280 |k =HE
4.939 19.254 |#k FEE
4927 19.072 |**x WE
5.101 19.141 [k EEE
5.224 19.194 |k IR
5.104 19.144 sk AR
5.105 19.216 [#kk HER
5.547 19.191 [k BER
5.506 19.202 [#sok FEE
5.861 19.519 [Hxk HEER
5.650 19.201 [#k =8
5.197 19.194 [¥x* EE
4976 19.097 [*x* =IE
5.035 19.298 [*kok aIIE
4.857 19.161 |k BHE
4.853 19.233 |k WRE
5.125 19.144 |H*x EHE
5.075 19.069 |k I B2 12
5.320 19.157 |k FpmE R
5.545 19.135 [k ZHME
5.064 19.105 [#kk =58
4983 19.086 |k HEE
5.254 19.244 |¥*x FARAT
5.620 19.098 [*#* N
5.405 18.960 [#k EER
4.960 18.925 [*x* Z=pIE
4.903 19.185 [¥x* eI
4732 18.976 |*x* BHRE
4748 18.803 [*x* ERE
5.138 19.002 [k FE LR
5.247 18.997 |#k LBE
5.023 18.863 |k wog
4.854 19.262 |#k EEE
4944 19.122 |k BIIE
5.038 19.149 |k BIRE
4.854 19.173 ook =R
5.415 19.215 [k 2R
4781 19.179 [#kok EBE
5.017 19.304 [*#* Ei5E
5.075 19.261 [*%k EAE
4.963 19.281 [#kok KR
4910 19.290 [*x* S
5.073 19.284 [¥x* EREE
4831 19.354 [%x* B
Oldrate*da1990s 0.279 2.035 [** tiEE
0.319 4.976 [+ E2
0.453 6.562 %k S
0.228 2222 |** JepE
0.459 5.675 [#kx ek
0.423 5.531 [#kx plix 3
0.316 3.618 |k FE
0.255 2.868 [#kx PEs|
0.363 5.144 |sokk Jui
1.032 4463 |sokk plisk o
d(Oldrate)*da1990s -0.401 -0.572
Cpn(=1)/Yzfk(=1) 0.628 41.869 [xxx
In(Yzfk) -0315 | —18.438 [#kx
d(ctax) -0.588 -3.920 [x¥x
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3. Ip/Kp(-1); REAEEEFERE

obs 1128
R2C 0.91
[#:Et#AR9 [1990-2013
2016 FEHERR
X1 +fiE
Constant -0.016 -1.245
-0.028 —2.824 wkx
-0.041 —2.617 |wokk
-0.039 -3.974|wkx
-0.038 ~3.059|%%*
-0.043 —2.764 xk
-0.017 —2.411 %%
-0.029 -3.730 k%
-0.043 —4.475|%k%
-0.038 -3.527 |wokk
-0.032 —3.757 |wkk
-0.020 —2.811wkx
-0.021 -2.479 %% A |
-0.027 —2.999 [rk )18
-0.022 —2.712]kxk ae
-0.037 —3.912 k% AN
-0.055 —5.219 [okk AR
-0.055 —6.192 ook =HE
-0.019 —2.415 % I
-0.059 -4.278 kxk EHE
-0.028 —3.065 kxk IFEE
-0.043 —4.431 [oxk FHhE 12
-0.052 —5.530 | wokk
-0.013 -1.916]*
-0.024 -2.373 %%
-0.034 -3.584 | %%x
-0.024 -3.590 k%
-0.019 -2.571 %
-0.027 —3.557 |Hkk =RE
-0.042 —2.560 ¥ IR
-0.022 —2.568 [ BIR
-0.021 -1.961| BIRE
-0.032 —2.695 [krk [
-0.037 —3.934 [sokk LBR
-0.035 —2.952 | wkk LnEe
-0.031 -1.864|% BeR
-0.042 —3.495 |*x* EIINES
-0.019 -2.162|%* BiER
-0.026 —2.366 | EHE
-0.040 —3.615 kkk 2R
-0.012 -1.740[* EER
-0.021 -2.038|%* Ri5E |
-0.033 —3.958 [k AR
-0.015 -1.955[ AR
-0.049 -2.893 |%kx iR
-0.016 -2.026 % ERGR
-0.028 -1.912[* bski ]
db 0.000 -0.107 dtimiE
-0.009 —3.174 xk HHE
-0.003 -1.282 EFR
-0.010 -3.689 kxk =HE
-0.001 -0514 MEE |
-0.005 -1.742|% iz 2
-0.003 -1.185 BEBR
-0.006 -2.121 %k EHE
-0.005 -1.926|% mAR
-0.005 -1.838| BER
-0.009 —3.406 k¥ BER
-0.008 —2.634 xk FEE
-0.008 —2.921 [orok AR
-0.005 -1.769|* HR)IR
-0.006 -2.323 %% )
-0.006 —2.309 [*x AN
-0.004 -1.562 aNE
-0.016 —5.582 ook wBHE
-0.007 —2.617 |%¥x [ITEY5Y
-0.003 -1.086 REFR
-0.005 -1.719|* I B IR
-0.006 —2.260 % FHhE 12
-0.013 —5.094 ok B41E
-0.003 -1.278 =
-0.003 -1.189 1
-0.008 —2.799 |wokk
-0.008 -3.068 | %kx
-0.003 -0.920
-0.003 -1.024
0.003 1.242
-0.006 -2.180 %
-0.004 -1.455
-0.005 -1.938[%
-0.006 -2.139 [k
-0.002 -0.740
0.001 0.370
-0.003 -1.242
-0.005 -1.906|*
-0.005 -1.834|%
-0.007 -2.412|%*
-0.003 -1.124
-0.005 -1.840|%
-0.008 —2.693 |tk
-0.006 -2.517 %
0.002 0.784
-0.006 -2.068|%*
-0.003 -1.250
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2016 FEHTEFER

3 tfiE
Kpprod 0.190 3.046 | **x*
0.319 6.104 %%
0.379 4.093 %%
0.352 6.892 |k
0.368 5.225 %k
0.410 4.525 %%k
0.289 5.961 |k
0.347 6.849 |k
0.409 7.010] k%
0.371 5.797 |k
0.276 6.841 |k
0.249 6.401 |k
0.184 5.832 |k
0.275 5.842 %k E BN
0.286 5.730 %k HRE
0.376 6.157 %k =g
0.393 7.728 %%k e
0.536 8.654 %k 'HE
0.248 6.068 %k [IE Y
0.482 6.051 %% REHE
0.285 5.632|%kx I 2 R
0.381 6.826 |k FRfER
0.470 8.616%kx BHE
0.289 5.910[%kx ZER
0.285 4.717 |k HER
0.277 6.371[xx SABKF
0.262 7.690 %% KBRAF
0.264 6.293 | %kx EER
0.246 6.940 | %*x =RE
0414 3.942[#¥x MAILR
0.247 5.371%kx BIR
0.253 4.183 |k BiRR
0.345 4.546 |k FEl LR
0.370 6.472 [k N1
0.405 4.496 % wAg
0.312 3.279 % EEE
0.375 5.515 %% NS
0.260 5.022 [k ZRER
0.255 4.605 %% EHE
0.343 5.972 %% EEE
0.225 5.273 %% EBE
0.264 4.762 %% Ri%E
0.329 7.252|%%* BEARE
0.252 5.598 % DB
0.412 4.402[*xx =I5E
0.216 5.332|%kx BERER
0.248 4.034 %% IPHRIR
EVD -0.0009 -0.326 diEE
0.000 0.409 i
0.002 2.512[%* BiE
0.007 4.525 [k JepE
0.003 3.170 [k IR
0.003 3.165 [k plin]
0.003 3.055 [k FE
0.005 2.974 %% mE
0.003 2.643 %% i
0.001 0.486 bk
din(GDP) 0.034 6.484]%xx
LRATE/100-@pch(PGDP) -0.073 —6.196***
In(=1)/Kp(-2) 0.557 27.315] k%

-84 -



4. NetExp; fFEH A

obs 564
R2C 1.00
#ESTHARY  [2002-2013
2016 FEHTTERE
3 il
Constant 2424221 0.643 dbiEE
-354155 -0.240 EHE
-334457 -0.227 EFE
-364948 -0.248 EHE
-347359 -0.236 MEE
-290655 -0.197 Lz 2
-314930 -0.214 =EE5R
-2756462 -1.678|* KRR
-2690038 -1.637 HAR
-2692926 -1.639 HER
-3490007 —2.105[** BER
-3176099 -1.920|* FER
2804964 1.410 R
-3454441 -2.081[** HENE
-335027 -0.228 e
960829 0.428 EWE
926898 0.412 RIIE
944499 0.420 BHE
-2850808 -1.733|* e
-2597790 -1.291 RHFE
-2581327 -1.283 I B2
-2304173 -1.148 Erdrily
-1669996 -0.835 ZHE
-2598206 -1.291 =)
208434 0.131 HEE
76835 0.048 RERAT
885095 0.563 K BRAF
155323 0.098 EER
-59673 -0.037 Z=RE
-7251 -0.005 LR
-135656 -0.077 SmE
-130129 -0.074 ERE
7536 0.004 LS
84454 0.048 L8R
39790 0.023 i)
901047 0.471 BER
924932 0.483 FNE
748486 0.391 ZREE
758632 0.396 =R
425439 0.299 =S
315839 0.222 EER
292049 0.205 RIBEE
280097 0.197 REXE
378039 0.265 KR
248454 0.174 EiFE
214198 0.150 BREE
405304 0.104 HEEE
WORLDMP*REXRATE 0.136 0.328 dtiEE
-0.147 -0.920 Rt
-0.244 -1.833)* ESEY
0.074 0.311 dLfE
-0.294 -1.432 &R
-0.019 -0.109 plig 5
0.059 0.319 FE
0.166 0.809 uc]esi|
0.129 0.862 Jul
0.158 0.385 blisk
GDPP(-1)-
(GDP(-1)-NETEXP(-1)) 0535 8.023 ek
GDPALLREG(-1) -0.006 -0.674 dbifgE
0.001 0.310 it
0.010 1.818|* ESES
-0.002 -0.392 dbpE
0.007 1.381 ki
0.000 0.009 i
0.000 0.032 FE
-0.002 -0.500 P E
-0.001 -0.280 FLIN
-0.001 -0.156 R
NETEXP(-1) 0.295 4.887 %k
DLS -185509 —5.506***
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5. Kp; REIEEEARRMY

obs 1551
R2C 1.00
HETHARY  [1981-2013
2016 EEHTERE
e il
[&, 0.044 | 111.521 [

MHEETR
Kp = (1-=84) * Kp(=1) + Ip * Ip05to00

6. Kg; HREXRYY

obs 1551
R2C 1.00
HETHARY  [1981-2013
2016 EEHTERE
3 tiE
[s, 0.016 77.582 [#*x
XHEETR
Kg=(1-8,) *x Kg(-1) + Ig
7. din(PGDP); GDPTJ7L—4
obs 1504
R2C 0.45
HEETHARD  [1982-2013
2016 FEEHTERE
Rk tE
Constant -0.346 —13.065 [**xx
GDP(-1)/GDPP(-1) 0.345 13.015 [#%k
din(YWH(=1)/GDPN(-1)) 0.091 6.661 [*kx
din(PGDP(-1)) 0.538 29.937 [#¥x
D(CTAX) 0.611 10.496 |***
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8. ER; Fi¥ZX

obs 1457
R2C 0.99
HEETHARS  11983-2013
2016 FEHTEHRE
3 tiE
Constant -0.065 —6.030 | JiEE
-0.062 —5.806 |k BEHE
-0.059 —5.558 | EFE
-0.065 -5.962 |*** EHE
-0.061 -5.761 [*** HEE
-0.060 —5.654 %% 8
-0.063 -5.937 |k =EE
-0.064 —5.916 [**x ZHE
-0.062 —5.758 |k HAE
-0.062 -5.785 |*** BEER
-0.070 -6.227 |*x BEE
-0.070 —6.289 |¥** FES
-0.057 ~5.280 |*** S
-0.070 —6.289 |*# HRNE
-0.061 —5.756 [*x*x HiRE
-0.060 —5.642 [*xx EWE
-0.060 —5.608 [*** AIIE
-0.059 -5.588 |k =BHE
-0.062 —5.765 [*xxx I
-0.059 —5.545 |*** EHE
-0.062 —5.784 %% I 218
-0.060 —5.571 [*xx BRI
-0.059 —5.461 [*xx ZHE
-0.062 —5.733 [**x =58
-0.063 —5.805 |k HEE
-0.067 —6.181 [*** TRARRT
-0.065 —5.980 |*** KR FF
-0.067 —6.100 [*** EER
-0.071 —6.324 % =RE
-0.062 —5.816 [**x FILE
-0.060 ~5.648 |*** ERE
-0.058 -5.475 |k BRE
-0.062 —5.800 |k i 1L IR
-0.062 -5.818[*** LBE
-0.062 ~5.849 |*** =]}
-0.063 -5.928 |k EER
-0.062 —5.796 |*kx FIE
-0.061 —5.756 |*** ZRS
-0.063 -5.920 |*** E4nE
-0.064 -5.888 |*** EEE
-0.059 —5.589 [*xx HEER
-0.060 -5.661 |*** EixE
-0.061 -5.732 %% AR
-0.061 —5.753 [*xxx KRR
-0.061 —5.693 [*xx HiFE
-0.061 -5.729 |*** EREE
-0.061 =5.676 [*** Pl el
GDP(-1)/GDPP(-1) 0.044 4.585 %
(P1519+P2064)/POP 0.066 5.134 %
ER(-1) 0.952 100.649|**x*
PDLO1 0.012 1.814[
PDLO2 0.019 2.055 |**
T—EUTT DR DEGREE=1 __ S.C=N E.C=N
2016 EEH TR
@pch(W)-@pch(PGDP)| %%k HiE
1 (RATHED) 0.012 1.814 [k
2 (2EAH0 0.031 4.833 |kxx
&5t 0.043 4.555 %%
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9. @pch(W); — A& 1=\ 2 A& A

obs 1504
R2C 0.40
#tHARY  |1982-2013
016EEHTEHE
hES tfiE
Constant -0.012 —2.501 |**
@pch(PGDP) 0.600 16.403 [**x
ER 0.033 4015 [**x
@pch(W(-1)) 0.226 9.532 [xkx
10. din(ZAISAN); BAEERRS
obs 1551
R2C 0.27
#stHARY  [1981-2013
016FEEHTEHE
hES tfiE
[din(GDPN) 1.257 21.760 |H#*
[D(LRATE) 0.059 14.045 [#%x
11. LRATE/100; A#H{E/EEESEE FIEY
obs 1504
R2C 0.68
#tHARY  |1982-2013
2016 FEEHERE
hES tfiE
Constant -0.068 -3.207 [#kx dbiEE
-0.069 ~3.265[x*x EHE8
-0.069 -3.262 %% EFE
-0.068 ~3.195 %% =S
-0.065 ~3.099 %% WEE
-0.061 -2.910 %% Wz R
-0.065 -3.074/%kx EEE
-0.066 -3.112%k% KPS
-0.064 -3.031 |Hkx HARE
-0.064 -3.051 |Hkk BHER
-0.065 —3.085 |*¥x BEE
-0.064 —3.012|%k% FER
-0.066 -3.105[#kx R
-0.065 -3.061 [£x wWENE
-0.067 ~3.162[#%x BE
-0.066 ~3.107 [*x =LE
-0.066 —3.138 k% BIE
-0.066 -3.106 [+*x EHE
-0.068 —3.222|%kx Iy
-0.062 -2.944[x%x EHE
-0.065 -3.084 |*%% I B IR
-0.065 -3.084 k% FhRE R
-0.065 -3.064|*¥* ZME
-0.068 -3.209 [k =58
-0.064 -3.010 %% HEE
-0.065 -3.062[#*x RARRF
-0.067 -3.156 [#kx ABRFF
-0.065 -3.098 k% EER
-0.064 ~3.015[#%x ZRIE
-0.072 ~3.417[xx FILIE
-0.066 ~3.126[x*x EHRE
-0.070 -3.315[%x BRE
-0.066 —3.125 %% & L R
-0.064 -3.040 %% LBR
-0.065 ~3.095 [%x iT=]=}
-0.071 -3.353 |Fkk EEE
-0.068 -3.218 k% BIE
-0.066 -3.136 |*4* BIER
-0.068 -3.238|*¥x SR
-0.062 —2.955[#%x a8
-0.068 -3.227 [kx EEE
-0.068 -3.212[%%x 58
-0.066 -3.132[#xx BEAE
-0.069 —3.275|*kx AHE
-0.067 ~3.194[4xx =I5E
-0.067 =3.171 %% EREE
-0.070 -3.316[x*x hEBIR
GDP/GDPP 0.096 4,583 %k
PDLO1 0532 25.224[x%x
PDLO02 0.011 0.296
T—EVIT O DEGREE=1 _ S.C=N E.C=N
2016 FEHTFHR
@pch(PGDP)| &% tE
0 () 0.532 25.224 [#xx
1 (BTER) 0.542 27.421 [%xk
A&t 1.074 57.227 [k
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